

X Chapter: Quadratic Equation Solved Question and Self Evaluation Question part-1

Solve $6x^2 - 5x - 25 = 0$

Solution Given $6x^2 - 5x - 25 = 0$.

First, let us find α and β such that $\alpha + \beta = -5$ and $\alpha\beta = 6 \times (-25) = -150$, where -5 is the coefficient of x . Thus, we get $\alpha = -15$ and $\beta = 10$.

Next, $6x^2 - 5x - 25 = 6x^2 - 15x + 10x - 25 = 3x(2x - 5) + 5(2x - 5)$
 $= (2x - 5)(3x + 5)$.

Therefore, the solution set is obtained from $2x - 5 = 0$ and $3x + 5 = 0$

Thus, $x = \frac{5}{2}$, $x = -\frac{5}{3}$.

Hence, solution set is $\{-\frac{5}{3}, \frac{5}{2}\}$.

Solve $\frac{6}{7x-21} - \frac{1}{x^2-6x+9} + \frac{1}{x^2-9} = 0$

Solution Given equation appears to be a non-quadratic equation. But when we simplify the equation, it will reduce to a quadratic equation.

Now, $\frac{6}{7(x-3)} - \frac{1}{(x-3)^2} + \frac{1}{(x+3)(x-3)} = 0$

$\Rightarrow \frac{6(x^2-9) - 7(x+3) + 7(x-3)}{7(x-3)^2(x+3)} = 0$

$\Rightarrow 6x^2 - 54 - 42 = 0 \Rightarrow x^2 - 16 = 0$

The equation $x^2 = 16$ is quadratic and hence we have two values $x = 4$ and $x = -4$.

\therefore Solution set is $\{-4, 4\}$

Solve $\sqrt{24 - 10x} = 3 - 4x$, $3 - 4x > 0$

Solution Given $\sqrt{24 - 10x} = 3 - 4x$

Squaring on both sides, we get, $24 - 10x = (3 - 4x)^2$

$\Rightarrow 16x^2 - 14x - 15 = 0 \Rightarrow 16x^2 - 24x + 10x - 15 = 0$

$\Rightarrow (8x + 5)(2x - 3) = 0$ which gives $x = \frac{3}{2}$ or $-\frac{5}{8}$

When $x = \frac{3}{2}$, $3 - 4x = 3 - 4(\frac{3}{2}) < 0$ and hence, $x = \frac{3}{2}$ is not a solution of the equation.

When $x = -\frac{5}{8}$, $3 - 4x > 0$ and hence, the solution set is $\{-\frac{5}{8}\}$.

Evaluation

Solve the following quadratic equations by factorization method.

(i) $(2x + 3)^2 - 81 = 0$

(ii) $3x^2 - 5x - 12 = 0$

(iii) $\sqrt{5}x^2 + 2x - 3\sqrt{5} = 0$

(iv) $3(x^2 - 6) = x(x + 7) - 3$

(v) $3x - \frac{8}{x} = 2$

(vi) $x + \frac{1}{x} = \frac{26}{5}$

(vii) $\frac{x}{x+1} + \frac{x+1}{x} = \frac{34}{15}$

(viii) $a^2b^2x^2 - (a^2 + b^2)x + 1 = 0$

(ix) $2(x + 1)^2 - 5(x + 1) = 12$

(x) $3(x - 4)^2 - 5(x - 4) = 12$

Solve the equation $a^2x^2 - 3abx + 2b^2 = 0$ by completing the square

Solution There is nothing to prove if $a = 0$. For $a \neq 0$, we have

$$\begin{aligned}
 & a^2x^2 - 3abx + 2b^2 = 0 \\
 \Rightarrow & \quad x^2 - \frac{3b}{a}x + \frac{2b^2}{a^2} = 0 & \Rightarrow & \quad x^2 - 2\left(\frac{3b}{2a}\right)x = \frac{-2b^2}{a^2} \\
 \Rightarrow & \quad x^2 - 2\left(\frac{3b}{2a}\right)x + \frac{9b^2}{4a^2} = \frac{9b^2}{4a^2} - \frac{2b^2}{a^2} \\
 \Rightarrow & \quad \left(x - \frac{3b}{2a}\right)^2 = \frac{9b^2 - 8b^2}{4a^2} & \Rightarrow & \quad \left(x - \frac{3b}{2a}\right)^2 = \frac{b^2}{4a^2} \\
 \Rightarrow & \quad x - \frac{3b}{2a} = \pm \frac{b}{2a} & \Rightarrow & \quad x = \frac{3b \pm b}{2a}
 \end{aligned}$$

Therefore, the solution set is $\left\{\frac{b}{a}, \frac{2b}{a}\right\}$.

Solve the quadratic equation $5x^2 - 6x - 2 = 0$ by completing the square.

Solution Given quadratic equation is $5x^2 - 6x - 2 = 0$

$$\begin{aligned}
 \Rightarrow & \quad x^2 - \frac{6}{5}x - \frac{2}{5} = 0 & & \text{(Divide on both sides by 5)} \\
 \Rightarrow & \quad x^2 - 2\left(\frac{3}{5}\right)x = \frac{2}{5} & & \left(\frac{3}{5} \text{ is the half of the coefficient of } x\right) \\
 \Rightarrow & \quad x^2 - 2\left(\frac{3}{5}\right)x + \frac{9}{25} = \frac{9}{25} + \frac{2}{5} & & \left(\text{add } \left(\frac{3}{5}\right)^2 = \frac{9}{25} \text{ on both sides}\right) \\
 \Rightarrow & \quad \left(x - \frac{3}{5}\right)^2 = \frac{19}{25} \\
 \Rightarrow & \quad x - \frac{3}{5} = \pm \sqrt{\frac{19}{25}} & & \text{(take square root on both sides)}
 \end{aligned}$$

Thus, we have $x = \frac{3}{5} \pm \frac{\sqrt{19}}{5} = \frac{3 \pm \sqrt{19}}{5}$.

Hence, the solution set is $\left\{\frac{3 + \sqrt{19}}{5}, \frac{3 - \sqrt{19}}{5}\right\}$.

Solution of quadratic equation by formula method

Consider a quadratic equation $ax^2 + bx + c = 0$, $a \neq 0$.

$$\begin{aligned}
 & x^2 + \frac{b}{a}x + \frac{c}{a} = 0 \\
 \Rightarrow & \quad x^2 + 2\left(\frac{b}{2a}\right)x + \frac{c}{a} = 0 & \Rightarrow & \quad x^2 + 2\left(\frac{b}{2a}\right)x = -\frac{c}{a} \\
 \text{Adding } & \left(\frac{b}{2a}\right)^2 = \frac{b^2}{4a^2} \text{ both sides we get, } & x^2 + 2\left(\frac{b}{2a}\right)x + \left(\frac{b}{2a}\right)^2 & = \frac{b^2}{4a^2} - \frac{c}{a}
 \end{aligned}$$

That is,
$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2 - 4ac}{4a^2}$$

$$\Rightarrow x + \frac{b}{2a} = \pm \sqrt{\frac{b^2 - 4ac}{4a^2}} = \pm \frac{\sqrt{b^2 - 4ac}}{2a}$$

So, we have
$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \tag{1}$$

The solution set is
$$\left\{ \frac{-b + \sqrt{b^2 - 4ac}}{2a}, \frac{-b - \sqrt{b^2 - 4ac}}{2a} \right\}.$$

Self Evaluation

Solve the following quadratic equations using quadratic formula.

(i) $x^2 - 7x + 12 = 0$

(ii) $15x^2 - 11x + 2 = 0$

(iii) $x + \frac{1}{x} = 2\frac{1}{2}$

(iv) $3a^2x^2 - abx - 2b^2 = 0$

(v) $a(x^2 + 1) = x(a^2 + 1)$

(vi) $36x^2 - 12ax + (a^2 - b^2) = 0$

(vii) $\frac{x-1}{x+1} + \frac{x-3}{x-4} = \frac{10}{3}$

(viii) $a^2x^2 + (a^2 - b^2)x - b^2 = 0$

The sum of a number and its reciprocal is $5\frac{1}{5}$. Find the number.

Solution Let x denote the required number. Then its reciprocal is $\frac{1}{x}$

By the given condition, $x + \frac{1}{x} = 5\frac{1}{5} \Rightarrow \frac{x^2 + 1}{x} = \frac{26}{5}$

So, $5x^2 - 26x + 5 = 0$

$$\Rightarrow 5x^2 - 25x - x + 5 = 0$$

That is, $(5x - 1)(x - 5) = 0 \Rightarrow x = 5 \text{ or } \frac{1}{5}$

Thus, the required numbers are $5, \frac{1}{5}$.

The base of a triangle is 4cm longer than its altitude. If the area of the triangle is 48 sq. cm, then find its base and altitude.

Solution Let the altitude of the triangle be x cm.

By the given condition, the base of the triangle is $(x + 4)$ cm.

Now, the area of the triangle = $\frac{1}{2}(\text{base}) \times \text{height}$

By the given condition $\frac{1}{2}(x + 4)(x) = 48 \Rightarrow x^2 + 4x - 96 = 0 \Rightarrow (x + 12)(x - 8) = 0 \Rightarrow x = -12 \text{ or } 8$

But $x = -12$ is not possible (since the length should be positive)

Therefore, $x = 8$ and hence, $x + 4 = 12$.

Thus, the altitude of the triangle is 8 cm and the base of the triangle is 12 cm.

